ENGLISH COMPETITION 2010
LEVEL 2
TASK 1
STRUCTURES AND VOCABULARY

NAME:_______________________________    SCHOOL:_________________________

Choose the correct answer
1. Your hands are dirty. ... ?

A,Were you work in the garden?

B,Have you been working in the garden?

C,Are you working in the garden?

D,Have you working in the garden?

2. Do you know what time ... ?

A, does this train leave

B, is this train leave

C, this train leave

D, this train leaves

3. If you were me, ... ?

A,you would have do the same?

B,would you do the same?

C,you would do the same, would you?

D,would you do the same, wouldn’t you?
4. We're looking for a new home in the …….belt (a zone of farmland and parks surrounding a town). 

A, blue 

B, leather 

C, green 

D, seat
5. I learned my multiplication tables …….. (memorized them) when I was 7. 

A, by heart 

B, by ear 

C, in over my head
D, from outside

6. It will not ……… so much next week. 

A, be cost 

B, costs 

C, cost 

D, costing

7. Did you ……….that man at that time? 

A, have seen 

B, saw 

C, sees 

D, see 

8. 'Patrick is in hospital.' 'Yes, I know. Jessica and I ……… him tomorrow.' 

A, are going to visit 

B, will go and visit 

C, am going to visit
D, wants to visit

9. My sister ……….on this report since nine o'clock this morning. She still hasn't finished it. 

A, has worked 

B, had been working 
C, was working
D, has been working 
10. I wish I ……… for my test last night. 

A, studied 

B, had studied 

C, have studied 

D, would study 

11. If I ......... Mary last night, I ........ her to bring my cd today.

A, saw / would remind
B, was seeing / could have reminded
C, had seen / would have reminded
D, were to see / would be reminding
12. I will feel lucky if ....... a well-paid job during this crisis.

A, can find
B, must find
C, am finding
D, will find
13. It is five months since we ....... over this company.


A, have taken
B, had taken
C, are taking
D, were taking
14. I don’t understand this sentence. What ...?

A, does this word mean

B, does this mean word

C, is this word mean

D, means this word
15. His hair is ... a few years ago.

A, not quite as black as

B, more greyer than

C, slightly less as

D, not quite so black like

16. Jane ... her little brother in the evenings.

A, looking for

 B, is looking after

 C, looks after

 D, looks to
17. She is rather different ... her sister.

A, of 

B, than 

C, from

D, as

18. Dentists strongly suggest brushing teeth using toothpaste to ............. them from decaying.

A, defer
B, protect
C, guard
D, waste
19. Would you mind ... me with the homework? 

A, to help
B, helping 

C, if I help

D, if help

20. I’ve put money on two horses. If ... of them wins, I’ll make a fortune.
A, both
B, any 

C, either

D, none
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NAME:__________________________ SCHOOL:_____________________________

Read the text about Windsor and write T (for true)or F(for false) or N (  for not stated in the text) ont he line next to each statement.
Windsor Castle is not quite all that it seems. It has the appearance, especially from a distance, of a great mediaeval fortress. But much of the structure, especially on the side that faces the Park, actually dates from periods of re-building in the 17th, 18th and 19th centuries. And although the Castle was certainly intended for military purposes, royal lodgings had already been built within the walls as early as the 13th century; they have been extended ever since. Inside the Castle, too, is one of the finest examples of religious architecture in Britain, St George’s Chapel. 

In fact, Windsor has only been the scene of military action twice - in each case a siege, and within only 22 years of each other, in 1193 and 1215. 

The Castle began life in 1070. It was one of the chain of fortifications built around London by the Normans to control the south-east of England. Its commanding position, on a hill overlooking the River Thames, seems the natural place for the principal building in the area. But that was not always the case. Before the Castle had even been thought of, there was a royal hunting lodge close to the river, in what is now known as Old Windsor. And before that, the Benedictine abbey at Chertsey - founded in 666 - had been the grandest building for miles around. 

1: Windsor Castle looks older than it really is.  _______   

2: It was originally built only as a place for the Royal Family to live.  _______    

3: It was first built in the 11th Century.    ________

4: Several religious ceremonies were held here in the 13th century.________

5: Its location was weak because it was too far from the river.   ___________ 

6: It's the oldest known building in the area ____________
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TASK 3
READING COMPREHENSION

NAME:__________________________ SCHOOL:_____________________________

Fill in the gaps with the words given below. There are 3 extra words you do not need to use.

The tiger may be more ancient and distinct than we thought 

Tigers are less closely related to lions, leopards and jaguars _______(a)these other big cats are to each other, according to a new comprehensive study. 

The genetic analysis also reveals the tiger began evolving 3.2 million years ago, and its ________(b) living relative is the equally endangered snow leopard. 

Despite the popularity and endangered status of tigers, much remains to be _________(c) about them, including how they evolved. 

It has long been known that the five species of big cat, the tiger, lion, leopard, jaguar and snow leopard, which belong to the Panthera genus, and the two species of clouded leopard, are more closely related to each other than to other smaller cats.

But it has been ________(d) to pin down the exact relationships between them. 

So to find out more, ________(e) Mr Brian Davis, Dr Gang Li and Professor William Murphy conducted an analysis of the DNA of all these species. 

By looking at similarities in DNA held in mitochondria and within the sex chromosomes among other places, the researchers found that the five big cat species are related to each other in a different way to ________(f) thought. 

Their data strongly ________(g) that lions, leopards and jaguars are most closely related to each other. 

 About 3.6 to 2.5 million years ago, the jaguar began to evolve, ______(h) lions and leopards split from one other about 3.1 to 1.95 million years ______(i). 

But the tiger had already emerged by this point. 

The ancestor of tigers and snow leopards also branched off around 3.9 million years ago. 

That makes the tiger and snow leopard "sister species", the researchers report in the journal Molecular Phylogenetics and Evolution. 

Both tigers and snow leopards are among the world's most ____________(j) big cats. 

Fewer than 3500 tigers are thought to survive in the wild. 

closest         endangered  
previously
suggest 
before

scientists

while
  ago
  researcher 
than
   dangerous
     discovered

difficult  

